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The number of women who have become Chief

Ministers of Rajasthan till date as on 1% September
2024:

Choose the most appropriate answer from the
options given below:

| fyarat 2024 aaamwﬁﬁﬁﬁﬁrﬂﬂfém
LG LEICEi Ry

ﬁﬁ%ﬁﬁﬁﬁﬁﬁﬁmmﬂmm?ﬁ:
A) 1 (B) 2
) "3 (D) 4

(E) Question not attempted / \?ﬂﬁﬂﬁ b

Who among the following was appointed the

deputy Chief Minister of Rajasthan in December

20237

Choose the most appropriate answer from the
options given below:

(A) Gajendra Singh Khimsar

(B) Rajyavardhan Singh Rathore

(C) Bhajan Lal Sharma

(D) Prem Chand Bairwa

(E) Question not attempted
frefafas & & frl feam 2023 ¥, nmm%
St & 9g T fae fomam mar am

Pt ﬁﬁwﬁmﬂé&'mmaﬁ
(A) T fie fama

B) T iR

(C) v @ Tt

/E) g = a4 -
(E) A 94q

Select a Rabi Crop grown in Rajasthan:
Choose the most appropriate answer from the

options given below:

(A) Barley (B) Bajra
(C) Maize (D) Rice
(E) Question not attempted
TSEA 1 3 aret S e F 99T ifin
Fraffe et B 4 e g
= | S (B) @~
(C) =T (D) &S
(B) rgafa g
OPQ-X12] $ 5

Given below ar® two statements:

Statement (I): In Rajasthan Pabuji is Worgy:
i

as the God of Camel.
Statement (11): Pabuji is credited to be the £

bring Camel to Marwar.
In light of the above statements, choose tp, &

ropriate anSWer from the optiops b

Tsttu

app
below.

(A) Both Statement (T) and Statement (yy) s

* correct.
Both Statement (I) and Statement (I1) 1

incorrect.
statement (I) is correct but Statement m

(B)

©
is incorrect.

(D) Statement (I) is incorrect but Statemen
(TI) is correct.

(E) Question not attempted
ey 3 s T T €
o, (I): T & Qs T Sl o a4l F w9

Wﬂﬁﬁﬁgl
o (IT): TRATS § FETors $i2 T A9 I A

2
it el 3 e ¥, A9 R e e
ﬁaﬁ“aﬁmaﬁ{ﬂﬁl
7 wmaﬁtm{maﬁﬂﬁél
(B) e (1) ST e (11) g1 e 8
(C) & (1) et & St e (1) 7T 8l
(D) e (I) Terd & wifeh e (11) Wel 2l
(E) rafEwy

Rulers of the princely states have treasured the

accounts of their valour, victories etc. written by

the chroniclers. What are these accounts called?

Choose the most appropriate answer from the

options given below:

(A) Khyat (B)  Vachnika

(C) Dawavait (D) Vaat

(E)  Question not attempted .

R s e s e, fareret ofe 30
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hich dinlect js spoken in the areas ol GChuru,

Jhll!ljhll:ﬂll. Hanumangaeh,  Suratparh - and

Gur‘l,t:fm:'uguq'_{-'t

Choose: thelrase appropriate answer from the

options giniq helow:
(A)  Malviny

(B) Shnkh‘%‘:lti
(©) I\-lc\\';_t_i_.

(D)  Wagadi

(E)  Question not attempted

T, T, FAFTE, g S s A
- il sl s i

mwﬁﬁmﬂhﬁwmﬁ

L |

i

(A) mﬁ?ﬂ‘._‘.i
(B) ‘e‘lma}a:
(C) Tardt
By amd
(E) Gﬁﬂf}%_l_)ﬁﬂ

ao

oo
T In Rajasthan; ‘Sanjhi® is made during the

-~

Shraddha .l‘\a-i:kslm (fortnight) before  which

festival? ;!

Choose the moest appropriate answer from the

options givep below:

(A) Dussthra

(B) linli:-?:

(C) Diwdli!

(D) Pnng:f‘i.l

(E) Questidn not attempted

e A o e eI A Ve H1 9a 7w s

Gﬂ_iﬁ%? i:-l'

i e & maffres suges s g

(A) T
aArefl oy

© Ry

(D)

® FIoRATH
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the
Which of the following region® recelves
highest ralniull in Rujasthon? _ the
Chouose the most apprppriate answer
options glven below: ™
(A)  Rajsamand ggl} Churu
(C)  Nogour o Bikaner
B westion not ajtempted
O & fiem & Gram v e = 5T
a2 ©

ﬁmf%lmmnm'iﬂﬂmﬂwﬂ"ﬂ‘“mﬂ?‘:

AN e ) TE 1;5.'7\

() mie (D) Lol
(i) orafawa 0O
™

WA g Gandhi Sagar
In Rajasthan on whiclh.giver 18 the Ga
Dam located? ()
Choose the most appropriate answer from
options given below:
(A)  Saraswati ¢(B) DBanas

the

(C) Chambal ) Mantha
(E)  Question not a pinptr:d
rrear 3 it e e fore o frera 22 |
frerferfas feredt o & Haffies Iugew 3ot g:
(A)  weE Eﬂn T
A9 et (D) wur
(B) 3rafa vy o
r~

In western Rajasthadthot dry and dusty winds

start blowing in sunﬁers which are known ag
e i

Choose the most apfpropriate answer from the

options given below:

(A) Kaal Vaishakh (B) Mavath

(€) Loo ()  Monsoon wings
(E)  Question not aftempted
wferdt TSR § fSIORY § miypey

AT St 37 At & S et . T o

mwa{ﬁmmﬁ
@) FEATE B ma W

1 D) Ty .
(E) Srafe wx P
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Which of the following is not a part of human

male reproductive system?
(A)  Seminal vesicle (1) Fallopian tubes
(C) Vas deferens (D) Testes
(E)  Question not attempled
Frerfrfrer 3 2 W1 ArE TS e e
L4
(A) I ) e fornr
(C) YFFATEH (D) U
() SR v y
Which of the following is not a type ol teeth in
humans?
(A) DPylorus (B) Canines
(C) Incisors (D) Premolars
(E) Question not attempted
PR 2 2 - gl el o O R
]
c/u\-)"‘ qTgERd (B) T H
i (D) ST

(<)

EEd
(E) gafe ud ]

following list, select the organs of the

From the

human digestive systent.

a. Rectum b. Trachea

e Oesophagus  d. Urinary bladder

e. Pharynx
Choose the most appropriate
options given below:

(A) b,d and e only (B)
(C) a, cand e only (D)
(E)  Question not attempted

ﬁnﬁ%ﬁaﬁi@ﬁﬁqﬁa&;wﬁﬁ@ﬁmm
Hifs:
ferar

a W * b..

answer from the

¢ and d only
aand b only

L ‘ﬁﬂ'EF{TH d.  WAEE.
P i
% oy e & v g e

(A) Faeb,d3ite (B) & c3itd

(%) Wa.caﬂtc/ﬁ/%ﬁauaﬂ;b

(B) ruiwe

- OPQ-X12] 3

15  Which of the foll

/f‘?)‘

. Which of the following is true about CARI

PRIYA?

. Choose the most appropriate answer from the

options given below:
(A) Commercial Broiler Chicken

(B)  Dual Purposc Chicken
Commercially Brown Egg Laying Chicken

(C)

(D) Commercially White Egg Laying Chicken
(%) Question not attempted
ﬁqﬁﬁﬁﬂﬁﬁaﬁw-mm Bt forr % aied e
&7

ﬁmﬁfﬁﬂﬂﬁtﬁﬁﬁmwmiﬁ:
(A) anforfraes sirger ittt

its characteristic is correctly matched?

Choose the most appropriate answer from the
options given below: '

(A) CARI DEBENDRA - Commercial White
Egg Laying Chicken

CARI PRIYA - Dual Purpose Chicken

(B)
(C) CARISONALI- Commercial Brown Egg
Laying Chicken
(D) CARIBRO VISHAL - Dual Purpose
Chicken
(E)  Question not auempted 4
- forgrean
ﬁﬁ%ﬁﬁﬁﬁﬁﬂﬁz“ﬁﬁﬁ
7 ST e gAfd &7 s
frfrfae freedl # € Jge oS,
R

(A) ﬂsﬂaﬂa-aﬁwﬁwaﬁ
(B) %ﬁm.aﬁﬁﬂmﬁﬂﬁﬁ i
ammmf—ﬁ-mﬁrﬁﬁ“i“wﬂ

(D)
(E) Fwied 54

owing pair of poultry bird and

L5 i
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Which of the following pair of poultry bird and
its characteristics is not correctly matched?
Choose the most appropriate answer from the
options given below:

(A) CARI SHYAMA - Improved Indigenous

Fowl '

(B)
©)
(D)

UPKARI - Improved Indigenous Fowl
HITCARI - Improved Indigenous Fowl
CARIBRO MRITYUNIJAY - For hot and
humid region

(E)  Question not attempted

Frferfiaa 3 & form gz veft of sweht Rmar 3
TS = wet forer e o w2

Frrffian fomredt 3 2 waifores suges smog:
(A) 3 v - 37 drer

ST - It vt 7t

ferehrdl - 37t Sarer o

st s - ik a3 a3 e
HARA T L

©)

(D)

(E)
I':."]_.

Which of the fol]a;.'ring is a grazier/shepherd of

Rajasthan? ~ “ )

Choose the mosr:'i-iﬁﬁrapﬁare answer from the

options given belc’-\ff.!

(A) Gaddi ‘s

(B)

(C) Raikas

(D)

(E)  Question not attempted '

Frafafaa # & @9-a1 Tsram @ wEm 22

Farfefera et o & Fatfiras suge o g

(A) T

(B) @R

JE) I
(D) T EERETe
(E) Iuftaws

g
* Tk

Dhangars

Guijjar Bakarwals;

OPQ-X12] gk
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s a
Viia g Ba'asﬂlﬂn} 1
i.i ya tambh (Chittorgalh- i)

storied pillar made of:

Choose the most appropriaté ans
options given below:

(z]:\) Rid Sandstone and White Marble
(B) Red Marble and White gandstone

(C) Only Black Stone

(D) Only Red Stone ;

E uestion not attempte
EJ Erﬁra? e faea w9 (FreeTa, qreredT)
[E: Ky, :
Preafirfs R & & wrartfires Fages 3 T
(A) e STy e TR G WU

€
wel‘ frﬂm th

B ST HHTET T whe w1y Iedl

(C) Fael FTar goul
(D) e A I

(B) oiaiE Ty

In which month the festival of Gangaur is
organized?

Choose the most appropriate answer from the
options given below:
(A) Falgun (B) Chaitra

(C) Baisakh (D) Shravan
(E)  Question not attempted

U % wiYER T ST e T & Sy 20
ﬁﬂ%ﬁ%ﬁ?@ﬁiﬁﬁmﬁmmﬁ;

(A) ®EFE B Ay
(©) smmE (D) ey

(E) orqaf@ws

A number of veiled women dancers bg

seven or nine brass pots on their heag
form is called: ;

lance up to
This dance
Choose the most appropriate
options given below:

(A) Ghoomar (B)
(C) Terah Tali (D)
(E)  Question not attern
g 4 e aredt nfved
& Tt wfer

Kalbelia
Bhawg;
pted
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21  Which dance is performed by the Bheels in | 24
Mewar? . '
Choose the most appropriate answer from the
options given below:

(A) Gavri Danceﬁ (B) Kalbeliya Dance
(C) Bhawai Danc®) (D) Ghoomar Dance
(E) Question not‘ﬁ'ﬁcmptcﬂ
Sy et T RS 1 e o T &7
e feedl i 9 gaffis Jogw ST
LENE ) (B) homsiferar Iod
LS L
(E) JFNRA@THA
(4]
22 Where is the ‘@ura Sundari Temple’ in 25

Rajasthan located? o
Choose the most éppropriate answer from.the

options given below:
(A) Banswara ¢y} {B) Churu
(C) Sikar [~ (D) Bikaner

(E) Question notg!}cmpted
Forqar el wfeT e el Rad 27

‘Shree Annapurna Rasoi .Yojana’, a welfare

The cost of food thali for poor and needy under

scheme of Rajasthan (as on Séﬁ_fbmbcr, 2024)is:
Choose the most appmpriar%lx}nswer from the

options given below: (v}

T A e AT el S
AT, ﬁ?mnﬂaamﬁﬁ *irorT it areft
it e (Rramt 2024 & TR 27
Fresfefiae freredt & & wayiféres ITge 3T T

Y T8 B) 22
© Tl (D) ’\:'fz
(E)  Question not auemptcd{ai?ljﬂﬂﬁ i

e

ATAL Sewa Center are 10::31?&} in Rajasthan in/
at: - ri {_\,\i
Choose the most appropriate answer from the

options given below: ¢
(A) The capital of R{ajasthap_ )
(B)  All major cities of Rajasthan

(C) The Gram Panu_:}_ig_l?fat lé:\EE]'l

(D) All the courts. &~ N
(E) © Question not a_t_tc'inpted‘._' {

! #t
A T O® 3% i Fredt § & Fatfirs Suge SR F:
(C) HiFt (D) SiEFHT @) A ¥
(E) FIIRTTH oy ; (B) T et ye el
5 EEEA R . O
23 Gogaji’s (a folk dc:{& in Rajasthan) father’s name /g H‘ﬂmﬁﬁ :13
o) €) FEehaTE b

was:

Choose the masrta ropriate answer from the

options given beloys ! : : 26)

Zewar Singh

(A) Bachehal Singh (B)
Surjan Singh

(C) Arjan Singhgry (D)
(E) Question nof attempted
Tirft (e A g’% iR &aar) & foarsft =6 A

qT: h
ﬁmmﬁmﬁmwmgﬁ:
(A) TafiE o B) SR
ey etifiE (D) gor fife
(E) afawd

OPQ-X12] 3

The Toll free Telephone pumber for *Child

Helpline’ is:

Choose the most appraprr‘ar%

options given below: i

e Yeverr & foe RO e oI
E %i -."

¥ 1
answer from the

(B) 1095

(C) 112 _py 1098

(E) Question not atternpted / paiE ¥
: [ Contd...
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Which Festival of Rajasthan is celebrated on 14™
January, on the day of Makarsankranti, every
year?

Choose the maost appropriate answer from the

options given below:

(A) Kite Festival

(13)  Colour Festival

() Ballon Festival

(D) Rose Festival

(1) Question not attempted

rareer 1 ufe ad 14 seEd), gt & e o
ST A PN = = i
foaifafiaa fasmed 1 @ waffis sugw I T

/A‘(qﬁnm

(3) TrIwa

(C)  T[EET I
(D) T[T Sedd
()  3rafa us

CAZRI, a rescarch institute in Rajasthan, is
VR

working on the issue of:

Choose the most appropriate answer from the

options given below:

(A)  Arid ecosystem

(B)  Space research

(C) Camel rescarch 5
(D)  Industrial research

(E)  Question not attempted

FI (CAZRI), TEEIH &1 U 7 &g form
fawa yr e @ T 87
frefefaa fagedi # & waifas sogw s

) v e
(B)  eAafer sa/sEEaE
(C) I Fqeum
(D)  sitenfie sTaaE ;
(E) Safmws

OrQ-xiz | ﬁ

29

30

31

_ Ayt

-.cred
qys affect®
Choose a major issue which has alway®

the agricultural development of Rajasthan -m e

Choose the most appropriate answer {10

options given below:

(A) Unpredictable and irregular 1

(B)  Scarcity of metals and minerals

(C) Insufficient land for agriculture

(D) Lack of interest by entreprency
Rajasthan

(E)  Question not attempted

foreferfias & & 3@ yg@ T8 & T ifer e

ey i e 1 e suqrfere foraT 8

Sraforfa et & waffires 39 I L
T @i stfrafad @t

(B) g S @i i FH

() wf % fag sraatw s

(D) e 36 gt & we ol HH

(E) rguia v

With which occasion is the Kachchhi Ghodi
dance associated?

ainfall

rsﬂf

Choose the most appropriate answer from the
options given below:

(A) Teej (B)
(C) Holi (D) Navratra

(E) Question not attempted

Frafafaa freredt @ | Taffies suge sar . |
(A) B) faEm =

(D) H9=

Marriage

(E)

On which occasion do women of Rajasthan “é
; : ‘ear
*“Lahariya Bhaant Ki Odhni?"

Choose the most appropriate

FARa 94

answer from
options given below: e

(A) Holi (B)
(©) Diwali (D) Birthot‘nchild

(E)  Question not attempted
TeredT it afged e st gy - &
S el ¥ Ly
frfafaa faaed § @ Faffie sggs

(A) el S
() fareh (D) Fmy & gy

(B) Tafa g

Teej




32 Inwhich folk dance of Shekhawati and Kuchaman
are ll-‘l‘:ﬂnsmrnents dhol or drum used?
Choasg) the most appropriate answer from the
optiuﬂggivcn below:
(A) X
(B) CH¥achchhi Ghodi Dance
(C) Q.gni Dance
(D} Ghudla Dance
(E) ﬁ(?uestmn not attempted
a3 FEA & 6 @ 70 3 @l a1 §9
e

andiya Dance

33 A sh‘cttz‘:JI ceeper purchases some apples at 41 for
T ID(FHW.\' many apples for T 60 should be sold

*-*er 10 nam‘_ﬂ“ a7
ﬁ@m%wﬁa? 100 7 41 % Wi & Tl
640, T FH ¥ RTT AT 60 7 fFa ¥ I

7 -
5/? ; "

‘;f}\ )2 ®) 13

-y

%o(clﬂl-‘r (D) 15 ;
,2(* ;-»\{(E) estion not attempted / B‘Fﬁ‘f&irﬂ'

v;. T
}f On Eellme. an article for ¥ 230, a shopkeeper
(e eam$3 profit of 15%. What is his profit or loss

5 \v percentage if he sells the same article for T 210?

‘tv/f' « (A) f"3°n profit (BY 7% loss
9, _J)D“n profit (D) 2% loss
< ;[} {7Question not attempted
1** ) Wa‘ﬁ#ﬂ ﬂuﬁéa'}wqmmmw-,aﬁr
45 %lﬂﬁaﬁﬂﬂ‘%ﬂ-’t? 210 & =T 8,
71/ & 37 T Wi =8y
5% w (B) ??'-FRFI
“-"3 (C)  10% e (D) .‘!','.gmrq
(E) SafE v
OPQ-X12] * 8

B

a5

36

37

(A)
(B) drerEE o

/m/ fremarst (e '
(D) ®E {
(E) qaf@wd -

F

A shopkeeper gives a discount of 8% to his cus{ 1g
tomers and still gains%%, What is the marked ‘
price of the article whpse cost price is T 4607
T AR A T F1 8% #1 2 7 3 fox
ft 20% mmmaﬁaﬂmmm
# foreenn 0 e T 460 %7

(A) T 600 %rr Z 660
(€) T580 D) Ts50 :
(E) Question not attempted / At 7 l

Who among the fu]lo{r?ng is the first y'aralympi- |
an to win two Paralynifiic Gold Medals?

Choose the most appropriate answer from the
options given below:
(A) SumitAntl ~y

(B) Nitesh Kumar &
(C) Devendra Jhajharia
(D) Harvinder Singh
(E) Question not ar{‘?np:ed
= aa T 3 Eet a1 31 @
FefF IS o
et faaed & S SUgH TG |
(A) gffra sif<e TB) fFewEER !
Sz Tt E{_‘,D) it frie '

(E) Suiasd

Shri Rajvavardhan Sifigh Rathore, sportsperson

turned politician, eXcelled in which sport at

Olympic level?

Choose the most apa-?prfarr answer from the |

options given below:— 40

(A) LongJump N

(B) Volleyball -~ ©

(C) Shooting

(D) Hockey m i

Question not affempted |

st ey fie TR fgendt & TS T,

ﬁqa@aqaﬁaﬁmgzwmmhﬁm%" :

Frifarfie fraredt & § G IUgw IR - ,
et (N '

| Contd.-
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38  Who among the following was the first Governor | 41 When 36 is added to 607 of numhet. WE pet &_4-":/
] Y
e same number, Then that number % il A s
Choose the mosf" 3!’!"' opriate answer from the a1 Fralt stz 3 olrve 1 36 151 AW P )’H;*
optinns given belgy: det ww ) By it e et P [CE' P v/
(A) Shri Gurufiitikh Nihal Singh {}\] "5 (13) KO ¢ry an '{‘P#
(B)  Raj Pramukh Sawai Shri Man Singh /m 90 ) 1009 2
i -
(C) Dr. Sampdrnianand (E)  Question not attempted / .;6&1"! v "J‘h?'. ”
(D) Sardar Shrcl:?lukum Singh - Y|
(E)  Question not attempted 42 - A student has to score 4% marks 10 pass " ’r:]
v J
o & & Y&Tﬁ%wwﬁtﬂqﬂ? examination, He gets 30 marks a![iﬂ} failed by 2
Frfafias faeedia ﬂwafﬁmmmaﬂv: marks. What are the mdmmumrjﬂdfk" of the
(A) aﬁgﬁﬁaﬁﬁmﬁm "Q" examination? fﬂ
4P ¥
(B) Wﬁﬂﬁﬂﬁl‘éaﬁqﬁﬁg bt mmmmwﬂwa:ﬁfrﬂm#m#ﬂ% 4%, 514
P ic P mﬁm&sumfmﬁhﬂrwzrmm aAofrh
(D) Hﬁﬂt?ﬂgﬂﬁg 1 B e, mqﬂmqﬂfuﬂmmqmi" ¢ /,.4_/
(E) Hﬁﬂf&! ‘:’Tﬁ_l ﬁ" (A) 90 (B) 100 -, /}f
/(4’ 125 (D) |4n”'i |
39  ind a single dt?,:ciount EQuwalcm to Succcsswcd Question not attempted / ?ﬁa a7
discounts of mmn% and 25%. RN o)
43  Sclect i i :
10%, 2W/Daﬁt2§¢ﬁ%ﬁmqa%wmww elect the folk dan'cc of Rajaﬁﬂjiln which is
.y . o i ﬂ’ h"f W™ ?opular for entertainment and%iging social
AL A issues.
(A) 55% AB)  54% &% ok i '
e a0 4% @ 209 10 it spprapriase aswer from fhie
E - e options given below: )
: il
(E)  Question rEbat:emptedfaﬂ?fﬁﬂ'Hﬂ (A) Kothputli dsiice [&;
g.: (B) Giddha ™
40  The price of a ;:_c_:fnmodit}f decreased by 10% (C) ** Kuchipudi (o))
which enabled dshopkeeper to purchase 8 kg (D) Garba E:.i;
more of it for RSC.%EUU. Find the reduced price (E)  Question not attempted o
per kg of the commodity. I F 39 &F I7% 1 =
Foelt =g 1t iy 3 10% A = W S A 33 3 o !'h'; Ty
gmmmmaqﬁjs%mmﬁmmn? 3600 & Frferfera fasedi § & matfirgs i
@ﬂ?mmwﬁ%%mﬁaﬁmﬁf qggmqa; 3‘@3‘3‘-1:-?
i maﬁli‘amg ‘J "f {B} O‘l
30 o @ 48 LATA" w »
© Tas » O § ™N
) R4S (D) T4 ° ':: M"(d S
(E)  Question not attemptcd / 313311?[92{ (E) a:lﬂ‘a‘f{a-gg
OPQ-X12 | % j%"’j
* ﬁ o 2 ! Contg,,
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44 While reciting the Phad of Pabuji, a musical | 47 ., On compound interest a certain sum increases
instrument is used called___ | 10.25% in 2 years. The rate of interest ﬁEr i
Choose the most appropriate answer from the ‘:._‘ L is:
options given below: *’,n"\ mwmﬁﬁfﬁﬂ'nﬁuaﬁ&mzm
1) Seuiy (B) Moochang ™"\ ".h, wIreft &1 wfer and wTer oy 2w

; (C) Ravanhattha (D) Ektarn S l;‘f;,. v (Ap 4% 50,
(E)  Question not attempted 1- L (C) 6% * (D). 8%
Qe o TS Mo T, fore ater @ s v R | S +f (E)  Question not attempted / STARE ¥4
ST 8, T8 HETET 2l G '
ﬁﬁqwﬁmﬂﬂm;rwﬁmgﬁ 48  The monthly incomes of A and B are in the ratio
(A) S (B) =T 4:3 and their monthly expenses are in the ratio
y REMER 1 (D) USHATT 3:2. If each saves T 800 per month, then what is
(E) Ialia vy the sum of their monthly incomes?
A i B 1 Wil 3T o 4:3 B SITF
45  RIICO has set up a Japanese zone in an industrial w1t @< %7 F9Td 3:2 2 a2 weie =aftr T 800
park in: ferTE ST &Y S Wi AT & A T 87
Choose the most appropriate answer from the | (A) T 48,000 < 56,000
options given below: K *’3} & & (C) T 84,000 @) % 96,000
(A) Mount Abu Neemrana “‘;_. ' ﬂa,f (E)  Question not attempted / aqgﬂﬂ?r e
(C) Jodhpur (D) Dholpur o &
(E) Question not attempted * |.49 = Which of the following is not a reason for water
F (RIICO) ¥ T ST &5 (1), afteifier | #0 scarcity?
a7 wnfua fRm . Choose the most appropriate answer from the
ﬁqﬁﬁgﬁﬁgﬂﬁﬁﬂaﬁﬁﬁmﬁw.@ % options given below:
(A) HIS=< AT FraET i r:7:l (A) Rise in population
o “ ﬂ
,(C) ST (D) AR~ 7 (B) Deforestation
(E) Faf@us vtf‘i, i ? (C) Space rescarch
% ¢l (D) Global warming
46  What is the compound interest on ¥ 15,625 for 9 (E)  Question not attempted !
|
months at 16% per annum compounded quarterly? Foey 3 @ - el Y o 1 T T A A
; Jogw Il
L.qL o 2 15,625 Tt 16% FFad 70§ fommet MR = e frepedt # @ wratfaes J9gw 39 g
{:;a aﬁrﬁﬂﬁﬁqmmﬁmam#mﬁw (A) @
“aly tm <A ®), T s
z siafeer sgEuA )
5’\ {(A) T 1861 (B) 1941 . T A
- ]
'\7 1951 (D) X196l v _,5,,1;) (D) Aftrw T “’;}s\: .
\ 2 1E) Question not a:tcmpttd@aﬂﬁ?{ a4 —<s B, Ll
OPQ-xu I 3% ’9}_/ 3_‘,} 1_%1, AT v .1
M & -~ ot \ \l ﬁ
* S _‘M A N 8 3
ik : e e 407
o e, 7 ,::;- v '"M
-‘:i:f \1';:4%5"‘:' S = 5 ﬂ_&:

LW S

51

52 .



iec ikas fOHOW
50  Support money for big cattle (big govansh) under, | 53 asons Ral _

In which of the following s€
cattle majntained in cow shelters registered by

cultivation practice iﬂ’lcir life?

the stat from the
2{::2:!:5 e %;;remment is enhanced from October Choose the most affdopriate answer
| & . . i
Choose @Fimﬂsr appropriate answer from the OpHar given bcluwm
options given below: (A) Monsoon v
(A) ?giiay (B) < 54/day (B) Summer ¢
},}- < 62/day (D) T 68/day (C) Winter
(E)  Question not attempted ; :
D) Th t theyear
Wﬂmmqﬁﬁﬁﬁmﬁmﬁaﬂﬂ? ©) Theoggs E:i o5
SR Motz 2024 i P afis 1w e e K Y i
ﬁﬁmm&%mﬁmmﬁ mmmﬁcﬁmﬁﬁmﬁ
(A) ?Maﬁ? . (B) ?54:&:;  wa®
/@/?ﬁgrﬁq D) 68 /fem ﬁﬂﬁ%ﬁﬁﬁ?ﬁﬁﬂﬁf&ﬁmwﬁi
(E) Srqaf@wy
2 (A) HHHEA
51 Which-of the fniiou:'ing regions of Rajasthan (B) ey '
shares its boundary with Pakistan? -
. : (©) wdi
Choose the most appropriate answer from the ™M
options gwen below: . ‘/(D)f EAR ;
(A) B1ka{'xer (B) Pali : (E) STIRRT ¥ vy
(C) Chl_tru (D) Bhilwara ﬂ
(E)  Question not attempted 54 Banjarzlis a well-kne f :
) oyn group of graziers were
ET‘EI X ﬂiﬂ o ;ﬂn & :}; found in the villagegaf !
et famedt & @raufﬁ)a;maﬁta?r Choose the most appropriate answer from the
M i 2=y (B) et options given below™) :
€ =& . (D) earEr (A) Rajasthan angltta_r Pradesh e
(E) wgaRawx (B) Assam and Nagaland ;¥
52 . Which nfhe following regions is located in the {C)  Goa and Mahamshtra \
southern:_nlpst part of Rajasthan? (D) Kamataka un‘a‘kerala _- i
Choose the most appropriate answer from the 6 Ot attempt
options given below: ¥ ,n"'l
(A) Churu (B) Banswara T ST T st —_—
(©)  Ajmer (D) Rajsamand b s m{,*
(E) Questmn not attempted ol frewe Wfﬁ}ma‘mw - ey "N
ﬁq%ﬁgaﬁaﬁq.mz}imﬁmﬂﬁzﬁ?ﬂﬁﬂm $m3ﬁt m = St 3
i feera 27, ' b
; (B) 3w R ATIEE
Frifeifiaa fared o @ waiforas sage 3w T o
@ & 4By aiwarer ““‘%
(©) stk (D) TR (D) e it
(E)  sryuf wy . (B)  arafa war
OPQ-x12 e 1

10
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o

'T&.P— s

TR
o1 e

(D)

Pastoralists/shepherds primarily depend on which
of the following activities for their livelihood?
Choose the most appropriate answer from the

options given below:

(A) Agriculture

(B) Industrial work

(C)  Animal Husbandry

(D) Fishing

(B) Question not attempted

reifrew TRt (@wdm) EET ® Il
s ¥ R Prafifes § @ e @ folt
T 8

RrefRrRr fpedt 3 & waifie Ugw SR
(A) TN

(B) e wE

A€ e

ot Ihel

A 9

(D)
(E)

When a ray of light incidents normally on a plane
mirror, the angle of n:ﬂectidn is -

Choose the most appropriate answer from the
options given below:

@A) o

(B) Greater than 0° but less than 90°
() 90°

Greater than 90°

(E) Question not attempted

mzdwwtaaqaamfﬁﬁmmawﬁm
St & d QT T T A E-
Fresferfiae faered f B HaHaE JUgH SACIH:

#(B) 0" atfir T 90" HFH

© 90
(D) 90" 3fF
(E) ageid ¥H

OPQ-X12]

L__.

11

12

57

e

Two plane mirrors meet at ri ght angles. A ligh
ray is incident on one mirror at an angle of 30°, 5
What will. be the angle of reflection from the
second plane mirror?

Choose the mast appropriate answer from the
options given below:
3 Tt o o ga & g W e b
epran 2 RO e o e 30° 2o o ATt et

%laﬁmﬂﬁz&wﬁwﬂ:qmﬁwmmmw
Bm?

it Rt § & Faifes I9gw I T
(A) 30° By 60°
(©) 90° (D) 120°

(E)  Question not attempted / STFAIT TF

Match List-I with List-11:

List-1 List-11
Shape Type
. 0 L Convex mirror
b. ) 11. Concave lens
c. ( [1I. Convex lens
d. ) IV. Concave mirmr
@-I%W@-Hﬂﬁﬁﬁﬁ:
He-1 -1l
FTF T
i s PR - 1
b. X \ I Fad o
e. ( \ 0 R & = e
d ) V. T=dd Q9

Choose the most appropriate answer from the

options given below!

3 R e et 8 2 warfives IO ST T
(A) n-ll,b-lll.c-l\’.d-l

B(Il -_!!!._1_1__—_13’,_0_-_ Ld-11

(© a-1V,b-Le-TLd-T0

(D) a-lULb-ILc~ ,d-1V

(E) Question not attempted / NG WA
[ Contd...
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(AY  Viviparous aninls
() Oviparous animals
()Y Ovoviparous animals
(I nvitro fenilised animuols
(1) Question not atlempred
ST A AR Sty Y vy e
Frfiafierer et 3 wifies suge T,
(A)  wrollersror siy
() gy SH
() SHESRY sig

w1 ury e s
() vafe uy

Animals which Tny eggs are ealled: - 62

Choose the maoyr appropriate nnswer from the
opHons given below:

Identify the oviparous animal.

(A)  Butterfly (B3) Cow
() Dog (DY Human beings
() Question not attempted
SEUS St Y wwr FY
/(x(' ferereht - (B) g
(C)- T (D)  wq=1
() srpafr ug .
61  Govardhan Asrani, popularly known as *Asrani’
is famous as a:
Choose the most appropriate answer me the
options 1..m.n below:
(A)  Music Director (I3)  Politician
(C)  Actor (D) Player
(E) t:_}ucsliun not attempted
s st s ‘st AW A e 8, gy
ufag @
frfefe famedi i g mﬂ“ﬂmwgmamﬂﬁ;
(A wfafdas 1) uwlfey
wAfrar (D) feemd
(B) ofgafa w4
OorQ-x12] $ 13

12

: le
Th which sty
¢ Late Jagjit Singh was famous for

of singing? the
from
Choosc the most appropriate ansWer

options given below:

(A) Soprano :

(B)  Western style singing

(C) Tenore

(D) Ghazals

(E)  Question not attempted .

w.aﬁﬂnﬁﬁqﬁﬂﬁﬁﬂﬂﬁﬁﬁma*mmﬁ
Frrefetfias fraresi # & mrarifires Fuges SACT:

(A) ®OET
(B)  ufenft dreft R
(C) &R

" e

63

() wqafaug

Who among the following famous Rajasthani
actor played very important role in National
Award wining film “Paan Singh Tomar™?

Choose the most appropriate answer from the
options given below:

(A)
(B)
(€)
(D),
{E)  Question not attempted -
ﬁnﬁ-rﬁaaﬁﬂﬁmwﬁmmnﬁaﬁﬁmem% .
TR ¥ W fey T e e
ﬁﬁqmﬁmiﬁ%mm IRy
(A)

Karamveer Choudhary
Sahabjade Irfan Ali Khan '
Goverdhan Asrani

.Kiku Sharda
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64  In how many years a certain sum of money will | 67 "' Bhilwara city of Rajasthan i('rsyk}nown for

become four timesF itself on simple interest at a Choose the most appropriate answer from |
te of 20% “@“‘? : A '
Ke kv options given below: -~
(A) 10Years vy (B) 12 Years ) )
(© 15Years O (D) 20 Years (A) Gold and Silver produttion
/(B) Cement Industry ™
[

v (EY  Question nnﬁft[empted
e el § @ ﬁfﬁ‘}r YT 20% | JfE (C) City of textiles and looms

-,
; /. > Wﬁﬁﬁ{%ﬁ“ﬁﬁﬂ[{ﬂﬁﬁrm (D) Lead and Zinc production
et (AL e i (E)  Question not attempted,
t“ il oy~ 15T [I:_"i (D) 20y _ _ = f"-' i
ﬁt"_,. -F‘_. (E) aqaﬁﬂagﬂ;i% ; ;am‘ EEIRIEEIE T[r:
+** 65 A sum of T 15, is invested on compound )
" _f\y. < interest for 3 yearsﬁ‘thc rate of interest fof three ﬁﬂ%ﬁﬂﬁwﬂﬁﬂmﬁﬁmmaﬁ
,{_ﬂ' - successive years are)10%, 8% and 5% per annum (A) w3 ?ﬂfﬁ%mﬂf |
- o respectively, then What will it amount to? (B) €tz g ' |
‘3‘% T 15,000 Ft g7l 3 a6t & faw amwafe = /ej/aﬁﬁtmﬂm !
A e it It 81 3R wew 3 9t & fo = .
T 10%. 8% AT05% wfrad &1, df i ant & /e (D) mﬁmm{f’
muﬁwﬁﬂﬂ"h | (E) Fafta wa 0
£ ;:'{,; i (A)_-Z 18,000 " ® T8 | _ r;_:‘ E
N fx K T18711 @ (D) T18920 68  What is the smallest five é|gi1t number which is
‘:?/” > B Question nﬁqa“mP'fd / ST exactly divisible by 16, 20 52“ 242
7&“ According to Minéral production in Rajasthan afer it it el SIS @ S 16, 20 3T 24 ¥
during 2023-24, Rajasthan is the main mineral q;,fﬁ: ST ..
i for: w ~
E?;ojousie:::: I;ijﬁ;apﬁme answer from the o ,113'1‘-69:"‘ (B}! EBEDD .5"
options given below! A (© 1??%4 ,/% ”ﬂ{],ﬂ_,.
(A) Lead and zg;: Ore , (E) Question not allemp{m! / C‘-T-ﬁrﬁ?r BE-)
(B) Vermiculite_ = '?‘; ._.:{
(C)  Sillimanife CN 1 Determine the maximum ;i9'§sib]e length of the
(D)  Diamond * d QL planks that can be cut from tﬁree pieces of timber
W(E} 0:;;:] ]13:;':.':“2&:}22“:24 Eo IER e ‘measuring 4.2 m, 4.9 m and!_ﬁ.s m, all of which
" @ﬁﬂaﬂqa;ﬁmaﬂﬁiﬁ should be of equal length. (. :
et € srfgaw wva osmd w #if, 7l
. /;H}ﬁt‘"'“Iaiﬁ‘:'ﬁiﬁﬁWﬁwﬂm‘?'TJ'T-'\‘:‘EI 4.2, 4.9ﬂ,aﬂrﬁ.3ﬁéif-_fﬁ'mﬁa=aﬁqgaﬁai
(A) zﬁmsﬂﬁﬁﬂ 8 maw@&;mg—cﬁﬁm::ﬂr%: ]
(C} ﬁ;ﬁgﬂ-mz o . \ "‘ (A) 42em (@) (B) ¢-56cm (@
(D) srEEE/ET © 6Iemc@d (D) 70cm (@)
() rgaia ¥ (E)  Question not attempted / AE@IT
OPQ-X12] g 14 | Contd-f




70 How many numbers from 450 to 600 are exnetly
divisible by 12, 15 and 207

P

(A Four (B)  Three
t; (C) Two (D) One
\\1* (E)  Question not attempted
!

N, 450%&}11@;%#11@7@1:.153#:20%15?&:

O frr 2

W }_}."‘w ELee
o) @

7 (B) avfaia wx

71. Two years ago, the average age of A, B and C

was 24 years. 7 years ago, the average age of B
and C was 25 years. What is the present nge of A?

(A) 16 vears (B) 20 years
(C©) 24 years (D) 14 years

\ (E)  Question not attempted

ax AT A, BT C 3w sy 24 7 oy 7
LAY Tl O B ot ¢ R shvem sy 25 0 o A
5y S sy .
@ e V,em/z‘n a

(C) 2434 (D) 143§

(E) 3fafia v

#"":x. 72 Which of the following type of animal is

v
L-’: "L
Ly -~

2.2 suggested minimum floor space for housing
2%
L'i/ purpose?
Choose the most appropriate answer from the
options given below:
(A) Heifers
(BY Down Calvers
(C) Adult Cows
(D)  Adult Buffaloes
(E)} Question not attempted
Frrrferfiaa o & o e 3 w3y 3 foro simame waivem
¥ = et T 6 g
Fr=rfrfiaa foraredt o @ watfires sugw s g
-
(A) . afem g £ s e
,/en( SRS @A) (P
v L -,
(C) auEFmy e
D) TwFdw o 7
L
(E) i uy "\,'h‘ \“‘

OPQX12] i & ¢y
X

14

73

T4

75

s
contain
Which of the following animal product

the highest amount (% nutrients) of Pf"“"":n he
Choose the most appropriate answer fro
options given below:

(A) Milk(Cow) (B) Egg

(C) Fish (D) Meat

()  Question not attempted

Frvaferfee i @ fa gy e i s o sAfereme
HTAT (%o v e el 87

Frafvfee foarit i &t wrarfiras Fug 300
(A) 7w () (B) afEr

(©) o " wta fie)

(B) e war

Which of the following animal product contains
the highest amount (% of nutrients) of fat?
Choose the most apprapriate answer from the
options given below:

(A) Fish (B) Milk (Cow)

(C) Egg (D) Meat

(E)  Question not attempted
ﬁmﬁ:@ﬁﬁﬂﬁmmwﬁmiﬁw&ﬁm
HTAT (% W ) Bl &

Frefaftae el ﬂ‘ﬂmﬂa‘aﬂgmm%i,
(A wet (B) =9 o)

(C) 3ier t ofiz)

(B)  orqmia wx

Who among the following is given the credit for
taking Kishangarh style of painting 1

its zenith?
Choose the meost appropriate answer from th
e

options given below:
(A) Mool Chand (B) Chandan Singh
(C) UdaySingh (D) Nihal Chapg
(E)  Question not attempted

mmmmﬁmwm%
i e Fre 8 i o st 8 i
ﬁm%ﬁahﬁqﬁﬁﬁm%m%
(A) Tt (B) e ;
(C) 3uyfiw * ﬁmﬁ'ﬂ:{:
(B) i wy

E'Cgmd.



76

Who has written ‘Baataan Ri Phulwan’
(Collection of Rajasthan folk tales)
Chmﬁ:}the most appropriate answer from the
optiohs"given below:
0
(A) (BhpriLal
(B) "ﬁalchand Tiwari
(C) (Vijaydan Detha
L
(D) Laxmi Kumari
I[,C}u.nas.lic'n not attempted
m?nl‘ﬂ TR (TSI e 1 HR)
ﬁmﬂﬁ]ﬂ%@"ﬂ%%‘?
ﬁq%ﬁﬁﬁﬁﬁﬁﬂaﬁ&ﬁaﬂgﬁﬁﬁ:
(A) Cfreme
Q
(B) Wre== foamrt

o mkin

77

(D) p-erest AT
09
(E) pyafa s
h
v
Nanié'the animal who breathes through its skin:
Lom .
Choose the most appropriate answer from the
options given below:
N
(A) pMonkey
(B) c@anhwom

(C) ..lc phant

(D) 'ﬁame]

(E) CQuestion not attempted
TQ i) T AT TGS S AT S i S )
forerfefiga faered 3 9 @At Suge s

(E)

Il 94

OPQ-X12] s

15

16

78

79

According to the National Research Centre for

Camels, in the camel health and management
calendar. which of the following activities is
proposed for the month of August?
Choose the most appropriate answer fmm the
options given below: : .
(A) Investigation of camel sa_’mple for
~ - endoparasites trypanosome. -,
(B) Vaccination and medication for killing
. % endoparasites. N
(C) - Soil management of shelters and
numbering of camels for identification.
(D) Hair trimming, vaccination anl-:Lspra_',r of
chemicals. —~
Question not attempted o
tre;ﬁwaz ST 7% % N, ST FR 3R
e e avred W & g Freferfiaa o &
gt nfafafr weafam i e &
Fariferfia freedt & & walfire Tugw SaCT:

(A) ﬁﬁﬁﬁqmmﬁ%%ﬁﬁ%wﬁﬁ
Bl

B) mﬁﬁaﬁqﬁ%mmaﬂt
(©) ﬂﬂﬁ ﬁwwaﬁtw#%@rﬁm
a"lwur amwﬁaﬁrmmﬁaﬂﬁsﬂm

O

FfE w4 3

1 i 3 .
Which of the following are the internal parasites
in farm animals?

a. Round-worms b. Fleas

]
e Tapeworm d. Mites [~
e. Coccidia an

Choose the miost appropriate answef from the

options given below: g Ch)
(A) b,canddonly (B) aband d -:miy
(C) candeonly (D) ac¢ and | e only
E uestion not attempted
{ﬁ‘:ﬂ) éiqﬁﬂﬁﬁaﬁ?ﬂmm%aﬁﬂﬁm
& o
a. TAHH B i1 .
c. d. e (75
e.. g S

“(A) Faerb,c 3R ¥aet o, b3

Fae c 3e

(D) ¥Fa@a,c e
i 1% g

(©€)-
(E)
[ Contd...



80  The hormone that regulates the blood sugar level

81

OPQ-x12

in our body is:

(A) Adrenalin (B) Insulin

(C) Thyroxin (D) Tcstuslcmn
(E) Question not attempted

R e 3 5 o #@ﬁm 0 amen
B R -

W TR

(©) il (D) %@fﬁh
(E) safawy o

The examples of connective tissues are: |
a. . Blood b. Bone)

c.  Epithelium d.  Carditc muscle

Choose the most appropriate answer from the
options given below: o

(A) aandbonly (B) a bundc only

(© abanddonly (D) b, c%ld d only

(E) Question not attempted

HIISfT FHeeht 3 Iarewr E -

a Th b. Ffgn

C. ufeftferany d. we Ut

ﬁﬁqwﬁwﬁﬁﬂmﬁ&mmm?ﬁ

(A) FaTasWb (B) %ﬁaza b 3R c
FaTa, b3 d (D) ?maﬁ c3id

{E} I 7

C?

What is the percentage of oxygen and carbon
dioxide in air inhaled by a human being?
Choose the most appropriate ail'r;:n'uer from the
options given below: 0

(A) 16.4% and 4.4% respectively)

(B)  4.4% and 16.4% respectivély

(©) 21% and 0.04% respectively

(D) 0.04% and 21% respectively,

(E)  Question not attempted

W IR et oft S arelt e H e iR
FIT BTgsiiTEE 7 Afawrd 71 GAe?
Freafesfiara forpedt & & watfire S S g:

: 16.4% ST 4.4% m

4.4% 3 16.4% ¢,

(©)  wmuw:219% 37 0.04%

D) s 0.04% it 21% O

(E)  srqafa wa _G
e

16

84

85

17

igsthan
Who travelled through the villages of R:‘:aéaya
and started his series *Mein Dekhta Chatasthan?
based on the rural life and soc'!rﬂf}' OFRBmem o
Choose the most appmﬂﬂ‘a!‘e (E}IUS‘-"’“
options given below: h
(A) ° Pt. Vishwa Mohan Bhatl-{'
(B) Dr. P.K. Sethi ‘::
(C) Jagjit Singh -
(D) Karpur Chand Kulish
(E)  Question not attempted: ¥} i

ﬁmﬁmnﬂmﬁmrmmw“i“
md‘msﬁa?ammwﬂm]ﬁ?m A dre

et AT Y faar? 8 )
ﬁmﬁﬁaﬁﬂﬁmﬁ&mmmﬂ*
(A) 4 fagdrTwg 1;;

(B) =9 & wEr

(C) wefafiw

(D) wE==Foaw a4

® uRaww o

In 1949, who became the CHEET Minister of the
Greater Union of Rajasthan?
L i

Choose the most apprqprmre“answer from the

options given below: -

(A) Hira Lal Shastri (B) Shobha Ram

(C)  Brij Bhushan (D) Sewa Ram

(E) Question not attcmpted

1949%@3@%1&:%3@1@@:@

fafafias i g 9 UL IR g3
. e (B) Q‘h‘lﬂm

(C) 1 wyoy (D) ﬁaﬁm

(E)  wafE s P,

Nature of magnesium hydmxlde is:
Choose the most appropr!qre _answ
r

options given below: 1._‘1 oy the
(A)  Acidic (B) RBasic

(C) Salty (D) Néutm.

(E)  Question not attempted '} PQCML
ftrﬁﬁmms;\mﬁwﬁ@—?m

Freafefeae farared o @ wretfores Svyes

W) Iy e O
(€) wraviy (D)  Samey

(B)  3rqaf vy i



86 The process of depositing a layer of zinc on iron

is called:
(A)
(©)
(E) Question not attempted
AR iE N R wen fiamma
ea '

Crystallisation (B) Galvanisation

Rusting - (D) Neutralisation

87  Which of the following metal melts even when

kept on a palm due to its low melting point?
Choose the most appropriate answer from the

options given below:

(A) Calcium (B) Gallium

(C) Magnesium (D) Mercury

(E) Question not attempted

frafafaa ¥ & SF- oy w9 7 TeEE &
FHIROT Bl T T o ot fireret STl 29

Frerfattaa faeredl § @ waifers Iugw IR T
(A) Hfewam (B) Hfeam

© el oy T Rt

(E) eruia

Which of the following is the most ductile metal?
Choose the most appropriate answer from the

oA
ﬁ

7

options given below:

(A) Copper

(C) Silver (D) Gold

~(E) Question not attempted

. P i & e e T g 8
s feian fared i & werffor 3ugen o gt
(A) (B) Uetfufiam

Ul

(B) Aluminium

=i

89  Which movement was led by Sadhu Sitarap,
Das?

Choose the most appropriate answer from the

options given below:

(A) Bijolia (B) Shekhawati
(C) Bhagat (D) Non-cooperation
(E) Question not attempted

iy arr 2 3 fore aTtaier g fham
forferfaa ferredt 8 & waifores I9g® TCT:
/@1{ fartiferar (B) Yr@m@rt

(C) W (D) FTEEEm

(E) Said u4

90  In which phase were Alwar, Dholpur, Bharatpur
and Karauli merged into Greater Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Fifth (B) Second

(C) Third (D) Fourth

(E) Question not attempted

ferr =0T 9 SAeTar, ey, sRaqT ST Flet 1 963

e | T gamm?

foreferfiga fammedt 5 @ waifas sugw 3o 94
\/(.Kf = (B) faefrr

) T ®) =34

(E) oy

91  Where is the Jawai Dam situated in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Pali (B) Jaipur

(C) Kota (D) Sikar

(E)  Question not attempted

ey 1 wrad s et feud &

Fretferfaes et # & warfires Fug 390 :
Tt (B) ST

“(c) @ (D) =

) seafaya

OPQ-X12] 3 18

17

(E) 37qafd vd

[ Contd...
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93

94

4 R

' According to the cengis of 2011 which of the

following districts hagthe highest Population i
Rajasthan? Q |

Choose the most appropriate answ

er rrg.m lh{:
options given below: -

(A) Bikaner B) Sikar
(C) Jaipur “h) Pali
(E)  Question not attempted =
2011 #m%wm%ﬁqﬁ&m
fymfataa faseat & S aaffis ST A,
(A) SIHMT (‘!]‘3:'_ it )
«P) el
() ¥FEiass

)
According to the census of 2011 which of the
following districts of Rajasthan had the lowest
rural sex ratio? ™)
Choose the most apgv;f;aprinre answer from the
options given belqw;ﬁ
(A) Pali C{B)  Sikar
(C) Jalore (D) Dholpur
(E)  Question not attempted
2011 1 T 3 ST T ok R e
ﬁéwmrﬁvrﬁ?mgcrmq\qﬁrrw
ﬁqﬁ%ﬁﬁwﬁﬁﬁ'ﬁaﬁﬁﬁrﬂgﬂ;mﬂﬁ:
") e uB)

(©) . vk <y e

B wmfmy O

: “ . g
Where is the Ramsag%ﬁvildlife sanctuary located
In Rajasthan? '

- Choose the: most appropriate answer from the

Options giyen below: ¢v)

(A) Bund; [13)  Dholpur

©)  Chun (.3?})) Ajmer

(E) Question ot u:_tj.".“l"wd

TR i oot v i e feaa )

TR

(©) T (D) e
©) sy

OPQ-x12

95

96

19

18

rrect
is not €0
Which of the following slﬂlcmg;'ls vi
; : n’
about the Palash forest in Rajastiia m the

5 swer fro
Choose the moxst dpﬂl‘ﬂ!’m’wﬁ

options given below:

n those apees

(A) These forests are spread 1i G
where the surface is stonf-and hilr ) i
(B) These forests are found only 10 P
region of Rajasthan. -
(C)  These forests are spreadin Aiwar., Ajm I;
Sirohi, Udaipur, Pali Cand Chittorgar
: M
reglﬁn.& m ;s !!‘dry
(D)  These forests are sub-types of tropica
deciduous forests, -
(E)  Question not attempted =
TSI | gairer a1 & wand F ey 7 & - T
w20 =
Fraferfa faemed & wrarffire suge 3o -
(A) o8 T 37 a5 & % ¥ SF vt waAw T
qera B 4y
(B) 8 3 TS % et wart v 7 qry sy 3
(C) T'IA Iy, mﬂ'{,ﬁrﬁﬁ'?w areft afir

(E)

Which of the following river H‘R
associated with the Bay of
system?

Choose the most appropriate gy,
options given below:

aeRE
TE I IOEHE AT qujgre T F
TR F|

"
St u s

98]

o
d Jasthan js oy
(Qengal dminagg

L

SWer from the

(A)  Chambal (B) Ll{}ﬁ; i
(C) Banas (D) %an y
(E)  Question not nllumplcdf‘a %
TSR 3 Fver 8 &t vy afy ey
& W waifir e & ﬁ%ﬁw g
ﬁwﬁiﬁaﬁﬁmrvﬁifiﬁmﬁhﬁ% -
il ey~ S
(C) &My (D) sy,
(£)  srafa wy

[ Congq



97  ‘Talab-e-Shahi’ lake is located in which of the

following regions of Rajasthan?
Choose the most appropriate answer from the
options given below:

(A) Udaipur

(B) Kota
(C) Jaipur
(D) Dholpur

(E) Question not attempted
frafafgs & & fFa &= & oeea™ i qemE-T

T witet fewrer &2
%ﬁmﬁamﬁmwmgﬁ:

(B) @R

©) SR

(D) R

(E) gmita ¥

98 Chambal Valley project is a jaint venture of

which of the following states?
Choose the most appropriate answer from the
options given below:
(A) Rajasthan and Gujarat
(B) Haryana and Rajasthan
(C) Madhya Pradesh and Rajasthan
(D) Madhya Pradesh and Gujarat
(E) Question not attempted
<erey.ad wfren Frefafaa § & fo awat &
e 3a €7
it & warffores g S

) T SIS
(B) gfrmom SR TS
©) wewewIdTEEE
(D) wer war AT
(E) HaRa IH

OPQ-X12] g

19

99

i _"".:E.'-

In Rajasthan, Bisalpur project is located in which
of the following areas?

Choose the most appropriafe answer from the
options given below:

(A) Bikaner

(B) Tonk

(C) Jaisalmer

(D) Udaiplur

(E) Question not attempted *
e i farererge afemT frefafad 4 fFa
7 o 27

1 faw o frered| # @ AaE IUGH IUC 4

(4) s

o

100

20

(C) et
(D) ST

w

(E) Saia 4

Which of the following National Highways pass
through Rajasthan state?

Choose the most appropriate answer from the

options given below: ; "
W
- = J}.
(A) National Highway no. 11 \?\ v
(B) National Highway no. 13 W o’
9 "‘;/
(C) National Highway no. 2 "
(D) l{nliunnl Highway no. 37 iy o

(E) Question not attempted

e @ F-aT U TSP e g &

G T 87

ﬁqﬁfﬁgﬂﬁmﬁ%m‘ffﬂmmmaﬁ

R e



(01 Eight friends collected money 1o he]l; flood

d on
l.gbﬂ“c

L ! 104 The First National Space day Was 5
victims. Six of them brought ¥ 30 each, The

m the
seventh person brought ¥ 1qp more than the

; r fro
era Choose the most appropriate ansWe
average of eight persons and the eighthperson

options given below:

brought T 550. What is the total sum brought by (A) 20" August 2024
them? - ' (B) 23 August 2024
mﬁﬁmﬁ%ﬁﬁm%mmmﬁwl (C) 27™ August 2024
TdeE? i (D)  31% August 2024

oE X300 5 =afeh w1 wret s . :

e M- 1S (E)  Question not attempted

=ftedl & e § T 100 = T siit sy o e it faw aa‘m-rmﬂm“ﬁ
=t X 550 M e Rt i ey TR e i & warffares 90ge I
(A) T 3400 B) T 2500 W LD (A) 20 30T 2004

)i\f Gﬁ
ﬁ"'EE /|

: = (C) 27 3ME 2024
) Question not attem tedfﬂ@ﬁ?m ¥ (
- P ¥ -.:‘E b D) 31 37T 2024
5

: i}, Y®) swefans
102 A family consists of grandparents, parents a o°

) | #05  *Rashtriya Gokul Mission’ is associated with:
three grandchildren. The average age of the two Y

Choose the most appropriate answer from the

grandparents is 66 years and that of the parents is options given below:

© 103

;
34 years. If the average age of the grandchildrens (A)  Ministry of MSME i
is 8 years, then what is the average age (in years) - (B) Ministryof Womenand Child Development
of the seven members of the family? (€)  Ministry of Fin"f_‘_‘ce
U IR H a1 212, vrar-fiar st 9 - gifiat (D) M?[s)u?v c_>f Fisherics, Animal Husbandry
an awymg -

& grar-ardt it 3t 31 66 A ¥ 3 Arar-fra i

X ) « (E)  Question not attempted
gﬂmm;sw&%mﬁq‘r%ﬁrﬁﬁaﬁraﬂmﬂﬁ T e e Rl a2
aﬁ%,?hqﬁan%mmaﬁraﬁmm@ﬁﬁ) ﬁﬂ%ﬁiﬁﬁﬁwﬁﬁﬂmﬁ%mm;ﬁ

¥ . 3 .
e — E—;’E ¢ (A) T O AT
M 1 ®) 32 74 'I‘r;:\ 5 (B) ﬁﬁqi‘gﬁl? @m (e Hisery
& o & =0 '1%% - .ff?I:J])I e e R HR 08 vy
- / pE] : '

(E)  Question not attempted / ST 94 E) FERAws e
The selling price of 12 apples is equal to the cost | 106 What is the least number which ?hﬂuld be adq

: to 2928 so that the resulting numbe, &d
Price of 15 apples. The profit percentage is: € ik i & i 15 e"aﬂlly

visible by 3, 4, 5 and 67

12 3t o o ey 15 Bt e Fa ) |V y

L 2028 W w W WA O W Sy
o wftrere R

'}5'*':’ : Mm;,cll.swéﬁffﬁm;;qm
(&) 15% (B) 20% L“)_/q,“"{j} (A) 2 B) 7 o
Q@ - “ e e
T 25, (D) 27% fj_"{‘g o) 8 rootB) 12 : :?3“
(B)  Question not attempted / T 94 (E)  Question not attempted / %% .
OPQ-x12 e ik e i [Cogyy it

20



107 Who was the first woman from Rajasthan to be

arrested during th?ﬂfreedum movement in

" Rajasthan? [
Choose the most n;ﬁ%ﬂpﬁnw answer from the
options given below:
(A) SitaDevi
(B) Durgavati lZ]'f.\‘(;_‘:;:)%I
(C) Janki Devi Pandey .
(D) Anjna Devi Choudhary
(E)

Question not attempted

mamm%mmaﬁm :

mﬁﬁmqﬁéﬁﬁﬂﬂ? |
fFrefafaa el 48 gaffas suge 39U
(A)  ®rar i:f
(B) et Sait =
(C) w2t giE
STSHT St =t}
IR T o o
f"“l
108 Which constituent gt_ﬂl-lenna dye forms a red
colored compound Cupon exposure to air or
sunlight? e
Choose the most appropriate dnswer from the
options given belows")
(A) cifin
(B) Nephthoquinari
(C)

(D)
(E) Question nuterl.t-t)empted

foet 5t a1 4 ST A g 2 e 3
aﬁﬁaﬁmm@ﬁﬁmm@

Quinone

Lawsone
i

Ammonium Chloride

OPQ-X12] 3 22

21

109 . Which of the following is not an example of

_physical change?
Choose the mast appropriate answer from the -

options given bc]owm

(A) Cutting a pigeg of paper in four square
pieces &

(B) Making a piece ‘of chalk from chalk dust

(C) Changing thé colour of the tips of hack-
saw blade on ‘strong heating

(D) Formation of brownish layer on the iron

gates of parks

Question not att}:mptcd

ﬁnﬁf@ﬂﬁﬂaﬁ? %%ﬁqﬁaﬁwa{rﬁm
TR

-

-._,__,_

ﬁﬁ%ﬁﬂﬂﬁﬂﬁﬁﬁ@ﬂﬂfﬁﬁmmﬂﬁ

(A) mﬂ:ﬁmaﬁmwﬁmgaaﬁﬁ
EIECH! o

(B) iTeh gt & ich a1 ZohgT STl

© Wmm%ﬁzﬁ%aﬂﬁaﬂ?rﬂm
CIEEARURCCREl
ql**?ﬁ%%‘?ﬁﬂ‘iﬁ{!itm#qmm
EEE] ["”

(E) aﬁ?ﬁﬁw t"*“’l

Which of the fo]!g’wmg statements is correct

about the alluvial sil'in Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) This is found only in northern districts of
Rajasthan.
This soil is very useful for the production
of wheat, mustard, cotton and tobacco.

* This soil cohtains enough quantity of
nitrogen. G"

b y The amount 'LOEE potash and lime is found

less in this H

(E) Question not attempted

mﬂﬂ?ﬂ%ﬁ?ﬂﬁi&&ﬁﬁqﬁfﬁaﬁﬁﬁﬂ?

o el 2 -

Frifefia faareeit .8 wrrtfiras Sogw swo:

(A) wmﬁﬁamﬂﬁsﬁ’ﬁmaﬁﬁm

(B) ¥& ¢, wrEi AU 3R Fag F I &
R eagasEfidl

(©) mwﬁwﬁﬂmﬁm@mwwiﬂ

110

(B)
"(©)

AD) S e 3 e ) ot v
Gk T
(E)

ST v

| Contd...



111 Which is not a type of bush foung i Rajasthan?

112 In an election between two candidates, 20%

Choose the most appropriate answer from
options given below:

(A) Fog (B)
(C) Lana (D)

the

Dhaman

Arna
(E)  Question not attempted

aﬂﬂﬁmﬁﬁvﬁaﬁwwzﬂmmw
%-? Vg

P et & e g e
@) W @) wmwm
©) @

L/(rm” ST
(E) smufawx

voters did not cast their votes and 120 votes were
declared invalid. If the winner gets 75% of the
valid votes and wins by a margin of 1800 votes,
then find the number of voters in the voting list.

3t Iefteanl % e e S § 20% waamwred ¥
HIAT A1 T ST 39K 120 die 31y Hifta frg Ty
af far=tar st 3u Jiet &1 75% firear & sftae 1800
a2t & ST & Sfia Srar &, T Haarar g i e

114 Which of the following factors o

ine
- determi?

the climate of Rajasthan? i
Choose the most appropriate answer
options given below:

(A)  Latitudinal position

(B) Longitudinal position

(C) Wind direction

(D) Distance from the sea

(E)  Question not attempted 5

Freaferfia # o o e A G
Frrifee =1 =Fwam? 2
retferfir Praredt & & wrarffires 39ge T -
(A) aerefr feafa
(B) - Sty feafa

g it famm
(D) wRA
(E) Irgafeawy

Which of the following National parks is situated

in Rajasthan?

Choose the most appropriate answer from the

options given below:

N s -7 . a v
i v g ifsmy \ ;‘-—- o J(A)  Bandipur L ..fo o~ e
(A) 4500 (B) 4590 Y (B) SantGhati D\, @ ot
AC P ﬁ:—]‘ o\ 1 o
D) 4680 A8 (©)  Keoladev Loy &b .5
4650 (D) o) \/; y ! 5 L
(E)  Question not attempted / TFARA T4 (o~ . é}D] Eaznranga @ \"\/
\*_(E)  Question not attempted
113 On simple interest a certain sum becomes T 9300 :ﬂﬁﬁiﬂ ﬁ‘lf-'l -6 U Jay o R
in 3 years and T 10, 500 in 5 years. The principal
L
sum (in T) is: ﬁﬁﬁ‘-rﬁﬁﬁﬁﬁ-tﬁ “ﬁ*“ﬂ“waﬁ;
WIRYT ST q we Fifira Tfar 3 @6 A T 9300 3 (A)  idgR |
' ; B) Haurd
ST H T 10,500 g el &1 < g ufw (X H) B: (B)
(A) 7000 (B) 7200 .)G(D’) 5‘53'_@“
7800 R
(/(/Cj g ) (E) it war

(E)  Question not attempted / STFART T4

OPQ-X12 2 23
e 89 e,
§ ~ A%

22




116 In 1800 AD. the first person to call present

Rajaﬂhmlz;:skmhjpummn

Choose the.mos? appropriafe answer from the

options given below:

(A) Ge%;écﬂmmas{ﬁl James Tod

(C) Hagkeu (D)  Alichin

(E) Quéstion not attempted

1800 351 37 T TSI 1 USgEAT FE a1

TR SIS €0

fr=tafaatascdl 4 § FHU® I9g 9 94
/‘&Af HumE (B) SWos

(<) ey (D) A=A

(E) Seiayd

117 Which of the following districts of Rajasthan had
the higi:e%ﬂd sex ratio, according to the census

of 20117

Choose thg most appropriate answer from the
options given below:

(A) Jhalawar (B) Banswara

(C) Jodhpur (D) Jaipur

(E) Qﬁéﬁnn not attempted

2011 F ST ¥ AT T A A
e e fae frafeted § 4 FH-a 2
frefafiaa fasedl § § @iy 39g AU
(A) FTEETE aieaTst

(©) f"% (D) =A%

(E) HaRa 94

(o)

118 According: 1;:1 the census of 2011, which district
of Rajasth:f;__}; has the hig};est urban literacy rate?
Choose theé most appropriate answer from the
options given below:

(A) Udajpur (B) Kota
(C) Barmer (D) Alwar
(E) Qumion not attempted
2011 #1 3 F ATEN, THEH F1 qaid
T Tragar =7 are e Feuar an
Frfiafae e 6 g I
(A) FEAq ) EHRT
(C) =TgHt (D) e
(E) waftana
OPQ-X12] $ 24

23

ln which of the following years was the Rajasthan

4 Transport Corporation (RSRTC)

™
most uppropriate answer from the

119
State Roa
established?
Choose the
options given belaw:

ﬁﬁ%ﬁﬂﬁﬁﬁmﬁﬁmﬁmmm

fr (RSRTC) Y B g€ oft?

ﬁﬁmﬁﬁﬂm—:’%gﬁwm wgﬂraﬁtgf’r:

(A) 1955 (By 1960

© 1962 ¢ (DY 1964

(E) Question n%ﬂttemptcd / FatE 9
m

120 Which of the following statements is incorrect

;! e, R
about genetic varjations:
Choose the mosf-appropriate answer from the

options given below:

(A) Some amg}xilt of wvariation is produced
even during-asexual reproduction.
O sz
(B) The numtiexs:: of successful variations are
maximized$by the process of sexual
repmductifrl
3]
(C) Quite distifict variations are visible among
the individual which reproduce asexually.
(D) Vaﬁaﬁons:ﬂising during the process of
reproductibn-can be inherited.
(E) Question nggmtempled

ifir R 3 Tt ¥ et 3 @
F-61 YT AT R?

Freaferfian e} & watfires 3ugwm s :
(A) gﬁsﬁ&lﬂmaﬁﬁﬁm%maﬂm
B 21
/{ﬁmmﬁuﬁm#mmﬁﬁw
1w i afy et )
(C) =it fia sreifiits s i whiren & S F &
it fafere firmram sefet et
(D) A & Wi % S B et fafiand
ST & e &
(E) 3rgefta wa -
. [ Contd...

!
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121

Which of the following statements are correct
about Mendel's Mon !,-brid crosses?
a.  Mendel selected wild pea plant for his
experiments. (Y)
b.  Mendel studiéd’the inheritance of one
character ai a time
¢.  Mendel's worl-@;as neglected for about 35
years.
d. Mendel used the wmrd factor for gene.
Choose the most appropriate answer from the
options given below:{™
(A) a,bandc ﬂnly%rsz) b, c and d only
" (C) a,candd only~(D) b and c only
(E)  Question not attempted
Hege o Uhe HRL TRt 3 i i Frefofiga § 3
ﬁw .
Tge o AU wiei & ﬁ-n{ ER R Gl
o) 3 W = gArem
5 m#%mﬁﬁﬂ“ﬁmw
1o feman mp::-
c. ﬁﬁ;ﬁaﬁrmw 35 981 Ao I @
Ml r“
d.  Heee A S % for e w1es 1 SwT R
. g
A fow o fasedt & & wrarffires suges I
(A) Fada,b3e(B) Faab,c3Md 7
|‘ Facia, c3fg~(D) FaSbRc ~

122

—ABYT" gl 1oy

AIAA 94 LU

The character whmh’ dues not express itself in F|
generation is called-T1

(A)
(B)
(©)

Dominant chazti;’%:ter
Recessive cha;";:ter
Allelomorph

(D) Contrasting cl érl}mtcr
(E)  Question not q&gmpted

AW tﬁaﬁqm‘#ﬁmﬁmﬁ-«r&fw% ar
T 8-
(A) Wt o

r‘i
™
o
(C)
(D)
(E)

Ul
ferrdier o7
FiFafa uz

0PQ-x12 | e

25

24

AP

; which
123 “Tamasha’ is the famous fOIK theatr®
place u}“ Rajasthan? . from the
Choose the most apprﬂﬂ-"f‘"é"o‘“"swc
options given below: cr
(A) Jaipur (B) {{ﬂaip“f
(©) Kota h{"a"“'
(E) Question not attempted = 29
g @i Treeh aHE Wﬁﬁgwﬂ :
ﬁmﬁaﬁmﬁwﬁﬁ&wﬂmw i
<> R
© (D} g%ﬂ*
(B) af@wy fi}
o
124 Match List-I with List-1I : =
List-I List-1I
(Type of Fort/Durg) (Nam?iif Fort/Durg)
a.  DhanvanDurg 1.  (Bharatpur Fort

b. VanDug 1L g‘gﬁnm Fort

c. Airan Fort IMl. +Siwana Fort

d. Parikh Durg, V. ﬁmsalmer Fort
i1 3w g1 3 frem Hif .

TEt-1 JEn
(ﬁr@rwm l‘tﬁiﬁ“vmmq)

L A

b. cﬁ-‘:ﬁg?ﬂ' e
i ;Eﬁrm%
% CREEY ey
Choose the most appropriate answer frg

m
options given below: ™M the

r‘n.
ﬂ%ﬁqmﬁ?ﬁvﬁﬁ%mﬁ%wﬁm
(A) u-l.h-au.c-lu.a-féﬂ»

!
a-IV,b-1lL e - 11, d 4l

w

©)
(D)
(E)

u-W.h-ll.t:-lll,d?Cg
a-lLb-1Lc-1V,d-1 %

Question not attempted / %Rﬂ ;



S

e e —— i S e .

125 The ratio of the present ages of Pand Qis 5: 7. If
Q is 4 years older than P, then what will be the
ratio of their ages afler 4 years?

p 3t Q Y ade Sy W YA S 7 /A Q, P
{4 ad st &, 1 4 o e T Y FT ST F

: Q- B
¢ (A) 3:4
5:f1 ®) 8:11 ;o P
M S . ¢ ARy
‘h/‘f\ 7:9 ¥ A & &
-3“ Yﬁ (D) 4:5 Srn 51‘ . .-f‘f\ :
o \d ' Y-
\\.u\ * ? (E) Question not attempted / TR T4

2
126 A sum of ¥ 2400 is divided between A and B is

such a way that % of A’s share and % of B's

share are equal. The share of B is:
Z 2400 F1 A 3R B ¥ oft=r 36 YR afeT ST & R

AT 4 fown, B3 5 fod a1 B o feve

8- o
A g
W
(A) <960 !:.,4“". (.;E *r}‘}.'} L-
¥ 1440 B w S AL T
: Veigs <
C 480 ¥
© ¥ »
(D) T 800
(E) Question not attempted / STTAIT 541

127 What number should be subtracted from each of

numbers 6, 8, 12 and 20, so that the resulting

numbers are in proportion? |
6, 8, 12 i 20 W & | F-4ft weAr werg S
W%Qﬁﬂﬁquﬂﬁ#@'ﬂmwﬁﬁg_p?

2 \
+ W H +
(a) 2 Bie\ge £ AT

(E) Question not attempted / ITFaRE ¥4
OPQ-X12 | $

25

26

128+ Dolly, the first cloned sheep'died in:
' Choose the most appropriate answer from

(}pﬁﬂ“g gii‘rcn h'CIDW:

2005 (D) 2007
Question not attempted / A 521

B

.' (E)

129 .. ‘The common drug for the treatment of coccidiosis
in cattle is:
Choose the most appropriate answer from the

options given below:

(A) Gentamycin  (B) Kanamycin
»+7(C) Dopsone (D) Chloroquine
(E) Question not attempted ]
TR § SEEfEEtE & v F oy ame
aufird:
Freferfian foraredt 3 & wraifare Jugw I0GT:
(A) S=EERE (B) AR
© TWH @y
(E) STgaiE g

130 Some frogs use which special plant’s pocket of
water for laying their eggs?
Choose the most appropriate answer from the
options given below:
G
(B)
(C)

Kalanchoe pinnata

Cactus

Bromeliads

(D)  Madagascar periwinkle

(E)  Question not attempted

0 3 e 31 33 3 fora e v e 6 O
T ITIT G 7 .
P e & watfires guge 30
(A) el f=mer
(B) ¥zg

(©) wrfrgs
/(-B‘)’ IR Wt
(E) srgafmwsn -
[ Contd-
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131  Which one of the l'nllnwin.g buffalo breeds is

oy i A el
134 Which one of the following 15 2
mainly found at Calf "Rearing Centre, ;

Jhalawar, Rajasthd;i? o peny ™ e e BOT the
Choose the most tﬁ;pmpﬂnm answer from the Chc.msc t?w most [approp
options given below: options given bc]“%
(A) Mehsana O\ (B)  Murrah (A)  Peneaus monpdon E
(C) Bhadawari :;:1 (D) Jaffarabadi (B) Macmbraafgfim rosenbergii
(E)  Question not dttempted (C) Catla catla (-
A fa P T T w TEE (D) Apis melliferia
Wﬁqﬁﬁm mﬁ_c% mﬁ » T % uré st &2 (E)  Question not attempted
(A)  Hrman i s Freafeae & g sreraviv sret 7 ¥ &2
(C) veEmEh L_},J{}g)) gdm ﬁlﬂﬁiﬁaﬁﬁwﬁfﬁ’ﬁwﬂﬁaﬂ?ﬂﬁﬁ?ﬁ
(B) orgaferwe ] (A) e T
v (B)  rbifaaw getaartt
132 Wh:c‘rf u:‘ t:;.c foilat:\\ijng is not an exotic breed of " (©) anﬁ%
cattle in India?
Choose the most appropriate answer from th; _,,(9]/1 W sefirt
options given below: C (B gEtawa

)
(A)  Jersey [~ (B) Brown Swiss ’

; =
(C) Kankrej 0 (D) Holstein-Friesian 135 Which of the follawing is not correct about

(E) Question né{%ﬂc.mpted CARLNIRBHEE@ __

Fr=fafas & @ MR # H-Ht mafiwEt £ Rl Choose the most ‘appropriate answer from the

et el &7 '_““ ' options given belo%

Frefefian faeredi = & waifér sogw s (A)  Ttis aresult of Indo-German collabopar:

(A) STt (B) a1 =g ) ration
FHEE (D) SRR A 19 :

(E) ﬂﬂﬁﬁﬂ'ﬂﬂ': {; (B) Field evaluggun done in RﬂJﬂSthzm anid

Punjab. poo

133 Which one of thff:.;flblluwin‘g Italian honey bee (C) Ttisa singléEoloured in digenoug ikt
' en,

variety is associated with increase in yield of (D) This chic l‘:';*{] & for e i :
honey? ;5 produciion © Meag ;
Choose the most appropriate answer from the ‘
options given below: i ®) QucshmT - _::ttempted
(A) A melliferal®) (B) A. dorsata frefafe F & %ff... Pofie ¥ oy § Py
(C) A cerana ET:: (D) A florae et R ?’% a
(E)  Question notaftempted frafafa Rt o m&mmm '
Freffiaa § & 3R wymadt 1 #F-4 wenfa (A) quﬁmquﬁg
mﬁ?mﬁmm‘ﬁwﬁm%’! ®) Wﬁaﬂ'{ﬁﬂlﬂ'ﬁmﬁ : ﬁ?}m |
j Sii?é“ﬂ“ ' g H?I'l.'ﬂﬁ: : qguastqmé‘?&:ﬁwﬁﬁu \I@Ql
(A g By g EiER = ek N A
(©) (D) T W __#;E'EL« i SR R N
(B) argafa wy (E) IFara
OPQ-X12) * 27 [ Q“'ltﬂ
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Which of the following statements is incorrect?

Choose the most appropriate answer from the

options given below:

(A) Mercury is a metal which is liquid at room
temperature.
(B)  Graphite isa metal which is a bad conductor
of electricity.
(C)  Sodium and potassium are soft metals and
they can be easily cut with a knife.
(D) lodine is a non-metal but it is lustrous.
(E)  Question not attempted
frrfefiaa & & w-a1 s s 2
Frfefias famredt 3 & watfiras soge s T
(B T O T i @ S ¥ e W R
ST H et )
(B) A% UF Tt urg ¥ S g A e
< g
(€)@ i e o g & oh o
ST & =T F e ST HT Bl
;ﬂ} SR Tk 7T & A T el Bt
2l
(E) ¥gai@ws

137 Which of the following is not an alloy?

Choose the meost appropriate answer from the

options given below:

(A) Stainless steel

(B) Cadmium

(C) Bronze

(D) DBrass

(E) Question not attempted

Frerferfer i @ -4t iy e e 2

Frtfetfies e i & rarifires e S

(A) =

By aefirm

() el @)

(D) diae (3TE)

() 3vaia ¥4 5
OPQ-X12] *
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g

o

h List-1 with List-II .
List-I Listqp 5
Reflection from I.  Plane m‘ﬂ‘or
a poiished or 2o
shiny surface
The term used for I Concay, '“‘l‘rq
an upright image :
of an object _
The mirror which I11. Regm;: refleg

always forms
same sized virtual
and laterally
inverted image

Mirror used in IV. Erect
solar cooker

and torch

=hT FEA-11 3w fore &t

TE-1 eIl
THENHERAT [ GEGe U -
v hrmé -

T & T

THHFFA [\ [ IFEde
wfafea 3 fag 11’

BRI |

Trimsiate) \n P
HHI HTHR
HHTHT 3T

RIE B E IR
wfcfers amar 2
HIeR Tt 3,
&reF 5 Wi gy
ST &1y =g

V. 3@ (Eh

Choose the most appropriate answer fro® lih'
Options given below:

(A)
(B)
(D)
(E)

27

ﬁﬁwﬁaﬁﬁﬁ@rmﬁmmﬁ?ﬁfﬁ*

B-Lb-IV,c.ILd.;r 2
a-1L,b-NLc-1,d- v A
a-MLb-1V,¢c-1,d-1I 05

o a- ILb-1,¢c- Iv,d-11

Question not attempted / ﬁﬂ-ﬂm b
[comtss
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139 Maich List-I with List-11 :

List-1 List-I1
Ornaments Wearing Part

a. Thussi L Finger

. b, Borla IL Ear

c. Daamna 1. Neck

d. Jhaale IV. Head

a1 A = 11 e i
i1 Tt-11

Ug= T 3T

a St

b. AL

C. . Tt

d. v, fw

Choose the most appropriate answer from the
options given below:

o1 fee e Frarest 8 & warffores g s
(A) a-Lb-T,c-ILd-1V '
‘_/LH*)" a~1[l,b-1V,c;I,d-l[
(C)y a-IV,b-ILc-II,d-1I
(D) a-Lb-ILc-1I,d-1V
(E)  Question not mtempted!aﬂ?{'ﬂ‘d g

140 ‘*Mandana’ is a traditional folk art of :

Choose the mast appropriate answer from the

options given below:

(A)

(B)

(C)

(D)

(E)  Question not attempted

Ferest 1 werfora g e i

LELDIE L]

(B) war

(C) ey

(D) wHErr fi

| (B) oraf@ g
0OPQ-X12 | *

Rajasthan
Kerala
Goa

Maharashtra

28

t
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141 Which type of forests are ¢ d

st a0
. on of fore
valuable as far as the conservation

wildlife resources are concerned? X
er fro™ o
Choose the most appropriate 0S¥
options given below: '

(A)
(B)
<)
(D)
(E) .
T W SR s gaTaT & e # fohE TN
T Y F HRrE W T

e —————

e frredt & & watfires I7gw SO
T (iR i) o
(B) rficha &
(€ o (fered i)

(D) WWFTEA

(E) 3ruita w

Protected forests
Unclassed forests.
Reserved forests
General forests

Question not attempted

142 Sariska Wildlife Sanctuary is situated i
(A)
(B)
(©)
(D)
(E)  Question not attempted
qiteh Tl anvamey fiae &,
(A) ofem e

(B) @HH

(©) FTEAH

(D) T %

West Bengal
Assam
Kerala

Rajasthan

(E) Tufa wx

29
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143  Which physiographic region of Rajasthan is
known as the ‘Hadoti Plateau’?

Choose the most appropriate answer from the

options E’Lcn below:
(A)  Arayalli region

(B) Euslern Plain region

(C)  Sputh-Eastern Plateau region

(D) Sémi-Arid region

(E) Qgstion not attempted
TEYT T H-41 e & El?—,.'i‘rﬁ F 9T &
wﬁwm%ﬂ
s Frpedt f @ warfiras s 39t

“. A

i et & .
P T

(D) 3T &

(E) aza;}rﬁ?rw
-

The *PI4if of Chhapan’ is located in which of the
following fhysmgraphlc regions of Rajasthan?

Choose lhf most appropriate answer from the

options Eﬁren below:

(A) Aravalli region

(B) South-Eastern Plateau region
r_ -

(C) Eastern Plain region
) .

(D) \?ﬁ‘;tcm Desert region

(E) Quéstion not attempted

o A1 e T ¥ Ffafaa i @ fr
sititferas aim i feaa @2
| frefafadiferedl § @ gatfie saged 30 G
(A) a{;@Fﬁ&'ﬁ

(D) q@hm?fhﬂéi
(E) raid 94
OPQ-X12] 3
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145  Which of {he following statements IS not correg

about the desert soil in Rajasthan?
Choose the moswpmprmrf answer from the

options given belbw:
(A) This soil i Fplaccd by winds.

(B) This soil isFaund in western Rajasthan,
.'(;3) It lacks in ferfility and keeps more salinity,

(D) It can absoffand hold the water much.
| (.E} Question not atlclmpted

T H wm?ﬁg E'—Eﬁ Heer # frefefad & &
'y o e TEe?

Feferfiaa Fﬂfﬁ?{aﬂgﬁm;ﬁ

J"({ aamm%,mmﬁaﬁeﬁ%z

) ﬁwﬁaﬁm@nﬁww%l
% st e Byl e T S R
}pj 7 U1 ot STefire WIEAT H | 37 9

ATl
' afE :
(E) s:&g ;
A
146 Goitre is caused f_@le to the deficiency of this
‘element in our dief:}
Choose the most%pmprfate answer from the
options given below:
(A) Iron 5
(B) lodine 0
(C) Calcium :.;::
(D) Sodium v
; .
(E)  Question notattempted
TG (TEATS) THI STET 8 337 ey oY 3t o T
BT 2 M
Frfesfias foared{ S  watfire sugem s
(A) I ()
(@}
9(44»3} R i
©) Hemm o
® dfm
(E) srqmf@us

[ Contd.



47 Which of the following is not o biodegraduble
% waste materinl?

Choose the most appropriate nnswer from the
options given below:

(A)  Meat

(1) Paint
(€) Excreta (D) Leaves of plants
(E)  Question not attemipted
Prafeftes § & #rm Sl swgfine gt
7t &2
Frafiafta et &  wrerffiras gwge s
(A) Wi B ,
(C) WA (D) et <y uftit

(®) i we

148 Which of the following are not the possible
causes of AIDS?
a. Drinking impure waler from wells and
ponds
b. By hugging the inflected person
0. By injection needle or blood transfusion
d. From infected mother to baby in the womb

Choose the most appropriate answer from the

options given below:

(A) banddonly (B) aandbonly
(C) a,bandconly (D) c¢anddonly
(E)  Question not attempted

fFreafafara i & 9 @ vga & vl wmor el &

o gl v e @ o1 T A v
b, wzwf wfth &) e ST
c. §9IE i o) [ AT W T 2
d. wivwfi wre % m i fagg
A1 fo 7o, it i wrerffires IUg IO,
(A) Faabafde ) Faeasib
(C) Faera,bafe _j_macaﬂtd
(B)  srqafma wg
OPQ-x12 e 31

30
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149 Which of the following disenses i$ "¢

nicable disease? m the

pswer ' '

Choose the most appropriate 21

options given below:

(A) Chicken pox b
(3) Cholern

(Cy Concer

(D) Tuberculosis

(E)  Question not attempted

Preferfera i & w-a s T T &2
Pt et & wraffires g 390 T
) Ferepe diferer |
(B) ¥ (@R

(D) R (i)
(B) orgafa wa

\)9)/ -

150 The number of Gold Medals 1..\.I'on by India i
Paralympics 2024 held at Paris ‘;'.'.‘.15: |
Choose the most appropriate answer from the
options given below: - '
trreifs, ﬁfterzuzq.ﬁmmsﬁ%mqm
ot o - '
frefefra fﬁwﬁﬁfthzﬁi}m%m ‘
(A) 7 -‘:ﬁ:
m 9

‘/(L'f 13

D) 6

(E)  Question not attempted / mﬂaﬂﬁnﬁ

[ Congg
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